[EC =] Phép cong (cdng 3)
Tén Ngay thang: Piém:____

17 12 1 1 13
2 pall +3 +2 +3 pall +1
8 4 1 10 6 18
R R
14 17 2 5 12 14 5
+3 o+ +2 +3 +2 +1 +2
15 4 5 15 14 14
+1 +3 1 +3 + 1 +1 2
12 16 15 17 6 8
t2  +2 +3 s +3 83 +3
1 10 3 12 8 14 17
+3 +3 +2 +2 +2 1 +3
15 4 10 15 17 14 8
+3 H +1 t1 +3 t1 +3
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+ 1
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Phép cong (cdng 3)
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Ngay thang: Diém:

12 1 1 13

+3 +2 +3 + *1
15 3 4 14

1 10 6 18

+ pll +1 +3 +2
8 11 9 20

2 5 12 14 5

+2 +3 2 1 +2
4 8 14 15 7

8 5 15 14 14

+ +3 + 1 + 1 +2
9 8 16 15 16

15 4 17 6 8

+3 pll +3 +3 +3
18 20 9 11

3 12 8 14 17

2 +2 2+l 43
5 14 10 15 20

10 15 17 14 8

+1 +1 +3 +1 +3
11 16 20 15 11
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